_ ' 300=F(Rg'(0 . _
/C\)‘ 30‘) -1_3( or}/—h-l; Ldini —hidilo
(‘3(")) Ax Lo U . |
(&= 96) vl s beley
P9 * Yk7mts \..;\-\'h“"ﬁ Arle ”
d SinGo \_et “r(j— S ' .
¥ = Sin(x), en F ()= cos(» Also/ éx(os(,() = —Sin(x)

dx Yx™42
Let o)z 442, then g'6d= 8x

d sinto — Cos(vd(lez—l 2) — sin(x) (Sx)

20 dx Yx*+2

(4 %24 2) B
e
Yo Teore

e S5

Yon 2

><'+
J/ H4s5 2 _
ds Sinfs) +cos(s)
d/ r2+32
/ér r3 N
St (x?

d/ -
4?( ton () = %r Cos (%)

W

v

d L*4 sint
At + cost

d) 4sin@) - (g
/30 dg® + 97
b

53" 5
/Aﬂ }3 -



